Answers to Chapter 3 & 4 Sample Exam
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Math 90, Elementary Algebra
Answers to Chapter 3 Sample Exam 
1. a.
m= undefined; 
(3,0); 
none
b.
m= 2; 

(2,0); 
(0,–4)

c.
m=0;

none; 
(0,–4)

See 3 graphs to right (
[image: image9.png]



2. m= ​​–9/2

3. y = 3x-9

4. 
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5. 
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6. 
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7. a.
2011 is 41 years past 1970, so x = 41.  
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 billions of dollars

b.
Set y = 376 and solve for x.  x = 30.  1970+30= the year 2000

c.
In 1970, the company made 43 billion dollars in food and drink sales
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Answers to Chapter 4 Sample Exam
1. a.
(4, 2)

(intersecting line)
b.
no solution 
(parallel lines)

2. a.
no solution
(parallel lines)

b. 
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(same lines)

3. a.
(1, –2)

b.
(–4, 1)

4. Let a = # of adult tix, c = # of child tix.  The system of equations is 
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.  
There are 405 adult tickets and 29 child tickets sold.
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Let x = liters of 30% solution, y = liters of 80% solution.  The system of equations is 
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.  Mix 60L of 30% solution with 40L of 80% solution.

6. a.




b.



c. 
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7. a.





b.
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